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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark your answer sheet.

76- As soon as we got on the plane, the pilot told every one of us on board ---------- again.
1) we get off 2) that get off 3) to get off 4) get off

77- During the 17th century, more and more people began to realize that they could test their
scientific ideas by designing a relevant experiment ----—---—- :

1) and seeing what happened 2) to see what was happened
3) and what happened to see 4) for seeing happened what
78- He was very helpful and gave me ---------- useful advice about buying a car.
1)a 2) an 3) many 4) some
79- The couple before her had found a way to make it work ---------- their differences.
1) so 2) despite 3) although 4) while had

80- Suddenly, someone shouted, “Help! This man is going to kill me,” and the man ----------,
got on a motorbike.

1) carefully 2) directly 3) immediately 4) unexpectedly

81- Fortunately, the needs of the whole community, and not just the wealthy, are ------—-—--- by
our public health-care system.
1) fed 2) kept 3) made 4) met

82- A: Why do you think Ted is emotional?
B: Because all his friends are so.

A: Oh, yeah. ~-=--==---,
1) Actions speak louder than words 2) Birds of a feather flock together
3) Too many cooks spoil the broth 4) Practice makes perfect

83- While taking part in the science experiment, students will ---—---—---- answers about why
bacteria grow quicker in damp areas.
1) seek 2) require 3) achieve 4) exercise

84- We'll --—-—--- how to do the project when we’re all together.
1) look for 2) depend on 3) figure out 4) make up

85- There were ---------- everywhere in the park saying, “Keep off the grass.”
1) sites 2) notices 3) demands 4) images

86- The city and its suburbs are so interesting, with ----—-—----- attractions and art museums.
1) recreational 2) bilingual 3) invisible 4) wild

87- The homeowners want to ---------- the closed-in garage to a third bedroom for their son.
1) dedicate 2) transmit 3) exchange 4) convert

Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Della had a sad experience (88) ---------- driving home last night. She traveled along the dark, winding
road (89) ---------- toward her home. She was only two miles from her house when she saw a glimmer
of light in the road. The next thing she knew, she heard a sickening sound and realized she had
(90) -==mmmmmme an animal. The light, she realized, had been its eyes (91) ---------- in her car’s headlights.
Della stopped the car and ran back to see what she had hit. It was a handsome cocker spaniel with
blond fur and long ears. As she looked more (92) ---------- at the still form, she realized there was
nothing to be done. The dog was dead.
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88- 1) for 2) by 3) during 4) while
89- 1)led 2) that led 3) to lead 4) which it led
90- 1) lost 2) caught 3) hit 4) quit
91- 1) endangered 2) generated 3) reflected 4) informed
92- 1) carefully 2) safely 3) widely 4) accidentally

Part C. Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

For some of us, playing computer games can be considered a ‘guilty pleasure’ which we
may feel embarrassed by or feel we can’t discuss properly. Unfortunately, gaming has
had this unnecessary stigma ever since arcade machines. Some of us just don’t
understand why video games are so attractive. But have we ever asked why or even tried
explaining our love for the art beyond the simple fact that it’s fun? Isn’t there more to it
than that?

The short answer to this, is ‘challenge’. Have you ever watched a film or listened to
a piece of music? Of course you have, who hasn’t! Our enjoyment from these comes
from the stories, the music, the lyrics, the characters, the twists and the turns along with
how we respond to them on an emotional level. A big reason why watching a film or
listening to a song is so common for us is because it’s easy! Push a button, plug in your
headphones and you’re away. Media in this sense is given to us as one without any input
from ourselves.

Now imagine if you were watching a film and it suddenly stopped. You as the viewer
are then tasked with controlling the world, pushing characters along, resolving conflicts,
making the important decisions and finally progressing the story to a conclusion.
Sound fun? Well, that’s ultimately what a game is. We are in charge of the story.

93- What does the passage mainly discuss?
1) Why playing computer games seems interesting
2) Effects of computer games on people playing them
3) Positives and negatives of people playing video games
4) Differences between watching TV and playing video games
94- What is the function of the first paragraph in relation to the whole passage?
1) It introduces the question which the passage seeks to provide an answer to.
2) It summarizes the views of those people against computer games, as discussed in the
passage.
3) It gives a brief explanation about the beginnings of a popular event the passage
generally discusses.
4) It generally describes an art form that resulted in computer games later discussed in
detail in the passage.
95- Why does the author mention “a film” and a “piece of music” in paragraph 2?
1) To explain why they are so popular
2) To show how they were replaced by computer games
3) To prove that whatever engages our senses 1s attractive
4) To use examples to try to explain the main point of the passage
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96-

97-

99-

100-

What is the main purpose of the phrase “Sound fun?” in paragraph 3?
1) To ask the reader for help

2) To get the reader’s agreement

3) To make the reader a bit confused

4) To make the reader change his / her mind

PASSAGE 2:

OK, I’m going to talk about the influence of nature versus nurture. And I’d like to begin
by stating that, as I see it, by far the strongest influence has to be ‘nurture’. The reason I
think this is that I believe the way we’re trained in the home environment will have a
much stronger influence on how we behave than anything that’s in our genes. I mean,
some people will argue that our abilities are determined pretty much exclusively by our
genes, so if your father was a great scientist with a natural ability for mathematics, then
there’s a pretty good chance that you might inherit that same ability.

Personally, I think it’s not acceptable to suggest this. I think that when a parent has a
particular strength, or interest, or achieves something wonderful in a particular field, then
the chances are that when they have children, they will try to transfer to the children the
same kind of interest; they will pass on their knowledge, their passion for the subject,
and so they are quite likely to engage the child in activities related to that field, perhaps
for quite a lot of the child’s time. And it’s as a result of this that the child may also
develop strengths or abilities in the same field. I absolutely deny the idea that nature
endows us with these inborn abilities. I mean, you can be born with the best natural
musical ability in the universe, but if you don’t practice the piano, then nothing will
come of it. On the other hand, I think you can teach people to do just about anything, so
long as you dedicate time and give the child the right kind of encouragement, or put
them in the right situation.

Which of the following words or phrases is the word “nurture”, as it is used in the passage,
closest in meaning to?

1) Pre-determined ability

2) Interest in learning new skills

3) The abilities stored in our genes

4) Learning through training and experience

Which of the following best describes the author’s attitude towards the belief of those
people who argue that our abilities are determined pretty much exclusively by our genes?
1) Praise 2) Agreement 3) Doubt 4) Disapproval

What does the phrase “that field” in the passage refer to?

1) What interests the child

2) What a parent is good at

3) What is inborn in a child

4) What is needed to make a child successful

According to the author, if a baby girl is born with an excellent ability to play the piano,
she ——---—-——-,

1) will for sure turn out to be a great pianist

2) needs her parents’ emotional support, more than anything else, to succeed

3) has one of the necessary conditions to become a great pianist, but this is not enough

4) could then transfer this inner ability to other fields only and only if those fields are
art-related
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

---------- for my mother living with me, I think I’d be quite lonely.

1) Were it not 2) If there was not

3) Whether or not it was 4) Not being

We had the volume turned down, so I couldn’t make out what the characters in the film
-—----——-—- about.

1) would be talking 2) had talked

3) have talked about 4) were talking

My wife was so angry with the way she had been treated -------- -- she marched up to the
manager and demanded an apology for the bad service.

1) how 2) then 3) that 4) since

Persuading staff to accept new patterns of work is a challenge ----—----- by many companies
that want to develop.

1) has been faced  2) which faced 3) it is faced 4) faced

Group the words into categories based on ---------- the categories with titles.

1) sharing features then label 2) shared features and label

3) sharing and labeling features 4) features to share and labeling

---------- able to find a job easily, Johannes decided to improve his knowledge in his own
field.

1) For being 2) To be 3) So that be 4) Being

-----——--- the book might be wrong never occurred to me or anyone else present at the
conference.

1) That 2) If 3) Which of 4) Although

--—---—--- to climb to the top, the remaining men moved the camp more farther up the
mountain.

1) Unsuccessfully tried two team members

2) Two team members unsuccessfully tried

3) While two team members tried unsuccessfully

4) Two team members, though unsuccesstully, they tried

Socrates, the great Greek philosopher, was ordered ----------.

1) that he himself gave him a poison whose name hemlock

2) a poison which was called hemlock he gave to himself

3) to himself to give a poison was called hemlock

4) to give himself a poison called hemlock

The babysitter told the children that after they chose the story they liked, she ---------- it to
them.
1) had read 2) was reading 3) would read 4) would have read
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Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

111-

112-

113-

114-

115-

116-

117-

118-

119-

120-

121-

122-

123-

124-

125-

Once you start noticing positive changes in the way you move and hold your body, yoga
and Pilates are hard to ---------- A

1) figure out 2) give up 3) work out 4) get along with
Please do not ---------- your name, but instead place your full signature on the line.
1) recall 2) dictate 3) abbreviate 4) identify

It was my father who fortunately encouraged in me the notion that I and I alone am
responsible for my own life, for what I do and don’t do, for my opinions and beliefs, and
it’s proved to be a great source of --—--—-----,

1) strength 2) heritage 3) pressure 4) generation

In certain situations and environments it’s important to understand why people say no to
—————————— requests, such as request to donate to a legitimate charity.

1) hospitable 2) generous 3) intermediate 4) reasonable

I think to be an artist usually it requires a lot of sacrifice, and I know that sounds like a
cliche, but it’s true because it requires an enormous amount of time, it requires being free
to suddenly change your plans at a moment’s ---------- .

1) likelihood 2) notice 3) tip 4) cost

Sometimes, things will get really heated and fights will break out. That really surprises me
because in Korea, no -------—--- how crowded or packed it gets, people don’t usually yell at
one another.

1) matter 2) way 3) wonder 4) surprise

The arrogant businessman liked to ---------- his net worth and make it seem like he had a
lot more money than what was in the bank.

1) recite 2) appreciate 3) magnify 4) dedicate
When she lost her husband, she had absolutely no means of earning more money for herself
or her Kids, and at her socio-economic level it was not ----—---—- proper for a woman to go
out and work.

1) expected 2) affected 3) respected 4) considered

The Willard’s front-of-house employees such as the concierge speak at least two languages.
Bilingualism is not an absolute ----------, but it is desirable, according to Wendi Colby,
director of human resources.

1) communication  2) requirement 3) document 4) diversity
Dissatisfaction with conventional explanations for dinosaur extinctions led to a surprising
observation that, in turn, has ---------- a new hypothesis.

1) suggested 2) replaced 3) exchanged 4) achieved

I’ve tried to ---—-—- the image of my mother’s sad face, but it just keeps coming back to me.

1) conjure up 2) put up with 3) turn up 4) blot out

In Muir’s day, there were basically only two factions involved in the conflict over land use.
These groups -——---—--- on one major issue—whether to preserve or develop land.

1) differentiated 2) dominated 3) diverged 4) surrendered

If you slip off your diet, the --—---—-—-- calories will make you gain all the weight you lost.

1) peripheral 2) extraneous 3) equivalent 4) unstable

We spent ample time exploring all the different ways to getting home before ----------
deciding to fly.

1) eventually 2) shortly 3) consciously 4) exclusively
The venue had a lovely, warm ----------, and we felt very comfortable there.
1) prevalence 2) benevolence 3) competence 4) ambience
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Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then
mark the correct choice on your answer sheet.

126-
1) Teaching myself how to take apart, repair, and to customize cell phones in high
school, I moved on to more advanced projects.
2) In high school, I moved on to more advanced projects, taught myself how to take
apart, repair, and customize cell phones.
3) In high school, I moved on to more advanced projects, teaching myself how to take
apart, repair, and customize cell phones.
4) How to take apart, repair, and customize cell phones, | moved on to more advanced
projects by myself teaching in high school.
127-
1) There are several ancient palaces that are major tourist attractions, which draw
thousands of people annually.
2) Several ancient palaces that are major tourist attractions they draw thousands of
people annually.
3) As major tourist attractions, there are several ancient palaces, that draw thousands of
people annually.
4) Thousands of people annually are drawn to several ancient palaces are major tourist
attractions there.
128-
1) The two small, beautiful, oval, ancient, red, porcelain Chinese vases are priceless.
2) The two, ancient, oval, beautiful, red, small Chinese porcelain vases are priceless.
3) The two beautiful, small, oval, ancient, Chinese porcelain, red vases are priceless.
4) The two beautiful, small, oval, ancient, red, Chinese porcelain vases are priceless.
129-
1) You can get to my house on foot is very easy and it only takes about 25 minutes.
2) Getting to my house on foot is very easy and only takes about 25 minutes.
3) In order get on foot very easily to my house only takes about 25 minutes.
4) By getting to my house on foot is very easy and only takes about 25 minutes.
130-
1) Everybody’s seat had hardly taken when Dr. Lee began her lecture.
2) Seats hardly taken by everyone when Dr. Lee’s lecture began.
3) Everybody had hardly taken their seats when her lecture began Dr. Lee.
4) Hardly had everybody taken their seats when Dr. Lee began her lecture.

Part D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1),

(2), (3), or (4) that best completes the blank in the conversations. Then mark the correct choice on
your answer sheet.

A: I didn’t see you in class today. Are you okay?

B: I’'m feeling a little (131) --—-------.
A: 1 hope it’s not serious.
B: I think it’s (132) ---------- the flu.
A: Well, take care and I hope you’ll feel better soon.
131- 1) snowed under 2) in the pipeline
3) head over heels 4) under the weather
132- 1) just 2) anyway 3) let alone 4) no kidding
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A: How did you like the service?

B: It was so-so. Our waiter was no great (133) ----------, He seemed put out when we
complained about our food.

A:What did he expect? The food left a lot to be (134) ---------- ! This is supposed to be such

133-
134-
135-

136-
137-
138-

139-

140-

a great restaurant. I don’t know what happened.
B: I guess it’s (135) -—--—--—--.

1) treat 2) envy 3) shakes 4) lemons

1) desired 2) taken 3) prepared 4) swallowed

1) flown with the tide 2) gone downhill

3) gotten the ball rolling 4) reached the boiling point

A: Erica, I hate to back out at the (136) ---------- hour, but Jake and I aren’t going to be

able to make it to your dinner party tomorrow night.

B: What a shame! Did something come up?

A: Yes, we have to go to a party at Jake’s boss’s house. Jake had told me about it a couple
of weeks ago, but it (137) ---------- my mind.

B: You’re going to be missing out on a great meal. I’'m making duck with olives and
couscous. I already bought the duck.

A: You better freeze some of it! I feel awful. You must think I’m the biggest flake!

B: Don’t (138) ---------- . These things happen.

1) seventh 2) nineth 3) eleventh 4) twelfth

1) crossed 2) slipped 3) flashed 4) weighed

1) mention it 2) sweat it

3) take me to task 4) get your hopes up

A: Do you think we can make it to Joe and Mary’s by 7?

B: I hope so. It’s only 5 o’clock now and we’ve only got about 120 miles left to go. We’re
(139) - ‘

A: Yes, but we still need to make a pit stop. Don’t you want to stop somewhere and
(140) ---------- a bite?

B: 1 guess so. Let’s look for a place we can turn off.

1) making good time 2) hitting the road
3) finding middle ground 4) missing the mark
1) snap 2) grab 3) snatch 4) split

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Spending a week on vacation with other people can either be a lot of fun (141) --------
recipe for disaster. The trip will be a success if it is planned well in (142) ----------

One person should be in charge of organization, (143) ---------- that they consult all
parties (144) -----—-—---- on anything. Someone else should be (145) ---------- to deal with
money matters, in order to avoid disagreements or hard feelings.

Sleeping arrangements may be unclear (146) ---------- you see the accommodations.
Therefore, it is essential to make a list beforehand (147) ---------- who should get the first
choice of beds. (148) ---------- housework is concerned, you may be lucky enough to
have (149) ---------- twice a week. If not, it can be organized on a rotating basis,
(150) ---------- everyone does their part.

Although you are all on vacation together, (151) ---------- you have to spend every

minute together. You won’t hurt anyone’s feelings if you go for a walk (152) ----------
for a change.

Above all you shouldn’t expect a stress-free vacation, (153) ---------- should you
expect everyone to (154) ---------- themselves every second. Even very close families
have the occasional argument. But you’ll know your trip was a (155) ---------- when you

hear on the way home: “Let’s do it again next year.”
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141- l)ora 2) with 3) which is 4) yetitis
142- 1) progress 2) advance 3) return 4) operation
143- 1) provided 2) provide 3) and provide 4) and it provides
144- 1) make a final decision before 2) before making a final decision

3) before a final decision be made 4) before a final decision to make
145- 1) substituted 2) acquired 3) appointed 4) entitled
146- 1) as long as 2) until 3) in case 4) as though
147- 1) itis established  2) is established 3) establishes 4) to establish
148- 1) As for 2) For all 3) As far as 4) Despite
149- 1) cleaned the accommodations for 2) accommodations and cleaned

3) cleaning accommodations for 4) the accommodations cleaned
150- 1) so that 2) because 3) then 4) consequently
151- 1) it doesn’t mean that 2) but it doesn’t mean

3) it doesn’t mean it is 4) but it doesn’t mean that
152- 1) out of the blue 2) up in the air 3) off the record 4) on your own
153- 1) not at all 2) nor 3) neither 4) none
154- 1) express 2) insulate 3) enjoy 4) conceal
155- 1) prediction 2) proposal 3) mission 4) success

Part F: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by some

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet,

PASSAGE 1:

Another space application that began under government sponsorship but quickly moved
into the private sector is the relay of voice, video, and data via orbiting satellites.
Satellite telecommunications has developed into a multibillion-dollar business and is the
one clearly successful area of commercial space activity. A related, but economically
much smaller, commercial space business is the provision of launches for private and
government satellites. In 2004 a privately financed venture sent a piloted spacecraft,
SpaceShipOne, to the lower edge of space for three brief suborbital flights. Although it
was technically a much less challenging achievement than carrying humans into orbit, its
success was seen as an important step toward opening up space to commercial travel and
eventually to tourism. More than 15 years after SpaceShipOne reached space, several
firms were poised to carry out such suborbital flights. Companies have arisen that also
use satellite imagery to provide data for business about economic trends. Suggestions
have been made that in the future other areas of space activity, including using resources
found on the Moon and near-Earth asteroids and the capture of solar energy to provide
electric power on Earth, could become successful businesses.

Most space activities have been pursued because they serve some utilitarian purpose,
whether increasing knowledge, adding to national power, or making a profit.
Nevertheless, there remains a powerful underlying sense that it is important for humans
to explore space for its own sake, “to see what is there.” Although the only voyages that
humans have made away from the near vicinity of Earth—the Apollo flights to the
Moon—were motivated by Cold War competition, there have been recurrent calls for
humans to return to the Moon, travel to Mars, and visit other locations in the solar
system and beyond. Until humans resume such journeys of exploration, robotic
spacecraft will continue to serve in their stead to explore the solar system and probe the
mysteries of the universe.

156- What does the paragraph preceding this passage most probably discuss?
1) A type of space application
2) Pros and cons of space exploration
3) A brief history of research on outer space
4) Reasons for government sponsorship of space exploration
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157-

158-

159-

160-

161-

The word “its” in paragraph 1 refers to -----—---—--,
1) challenging achievement
2) carrying humans into orbit
3) a privately financed venture
4) a piloted spacecraft called SpaceShipOne
Which of the following is projected in the passage as potential space activities in the years
ahead?
1) Preventing asteroids from hitting Earth
2) Transterring resources from space
3) Using satellite imagery for business
4) Launches of private satellites
The author suggests that the reason why there are recurrent calls for humans to return to the
Moon, travel to Mars, and visit other locations in the solar system and beyond is ---—--——-- )
1) humans’ thirst for competition
2) to refurnish energy resources available on Earth
3) to satisfy man’s curiosity about what is there in space
4) pursuit of space activities for more and more utilitarian purposes
Why has the author mentioned the “Cold War competition” in paragraph 2?
1) To mention a reason for an activity
2) To warn about the consequence of more rivalry between nations
3) To remind the reader that science can worsen international conflicts
4) To prove that government sponsorship of science often leads to disasters
The word “stead” in paragraph 2 is closest in meaning to --—--—--—--- «

1) quest 2) safety 3) place 4) control

PASSAGE 2:

Psychologists have arrived at several surprising conclusions in their search for predictors
of happiness. Many of the factors that may first come to mind do not seem to play a
major role in happiness. For example, although people strive to get high-paying jobs and
dream about winning the lottery, income is not strongly correlated with happiness.
Wealthy people are happier than poorer people, but the difference is not very large. As
one might expect, the association between money and happiness is strongest among very
poor groups and among poor countries. Income leads to smaller and smaller gains in
happiness as income levels rise.

Health also plays a role in subjective well-being, but the associations are, again,
surprisingly small. Surveys of representative populations show that objective measures
(including doctors’ reports, hospital visits, and lists of symptoms) are very weakly
correlated with happiness. Subjective reports (such as a person’s own evaluation of his
or her health) tend to correlate more strongly, but even these associations are, at most,
moderate in size. In addition, although people with major health problems, such as
paralyzing spinal-cord injuries, are quite a bit less happy than uninjured people, the
difference is not as large as some might expect. Even people with very serious illnesses
tend to report happiness scores that are above neutral.

The factor that has been most closely linked to high levels of happiness is social
relationships. Research consistently shows that people who have strong social
relationships tend to report higher levels of well-being. As with other domains,
subjective reports of relationship quality and relationship satisfaction tend to exhibit the
highest correlations with subjective well-being. But even more objective measures,
including the number of close friends a person has, the number of social organizations to
which the person belongs, and the amount of time the person spends with others, all
show small to moderate correlations with happiness. As one might expect based on this
research, specific types of social relationships are also important for subjective well-
being.
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162- What is the best title for the passage?
1) Predictors of Happiness 2) Happiness: An Illusion
3) Components of Happiness 4) Importance of Happiness in Life

163-

164-

165-

166-

167-

168-

169-

170-

What is the primary purpose of the example given in paragraph 1?

1) To prove that becoming happy is a chance event

2) To support the claim that rich people are not happy

3) To support a claim made earlier in the same paragraph

4) To disprove a well-established belief among certain researchers

The word “difference” as it is used in paragraph 1 refers to the difference ---—---—---- :

1) in riches amongst the poor and the rich

2) of opinion about happiness in general

3) between two correlation indices

4) in the level of happiness

According to the passage, which of the following measures correlates with happiness more

strongly than the others?

1) Hospital visits 2) Doctors’ reports

3) An individual’s self-evaluation 4) Lists of symptoms

It can be inferred form the passage that a person who is now in a wheelchair unable to

walk again due to an accident he has already had --—-—----—- ,

1) is more likely to be as happy as a typical individual

2) is not necessarily significantly less happy than a typical individual

3) does a number of extra things which prevent him from becoming unhappy

4) does not lose hope, which is why he turns out to be not less happy than a typical
individual

What do paragraph 1 and 2 have in common?

1) They show there is no gap between laymen’s and researchers’ conceptions of
happiness.

2) They reveal the cynical view that happiness has been and still is an elusive human wish.

3) They shed light on the relationship between a number of variables and happiness.

4) They explore a number of variables having no bearing on true human happiness.

The author has mentioned “the amount of time the person spends with others” in

paragraph 3 primarily in order to ----—---—--- ;

1) highlight the significance of social bonds

2) refer to an objective measure of a given variable

3) unravel the effect of people on each other’s well-being

4) prove that the more friends one has, the happier one feels

The passage would most probably continue with a discussion of which of the following?

1) Differences between subjective and objective well-being

2) Ways to improve research about happiness and well-being

3) A review of the reliability of research findings about well-being

4) A kind or kinds of social relationships more associated with well-being

There is sufficient information in the passage to answer which of the following questions?

1)What is the rationale used by researchers to justify the difference in the data collected
via subjective versus objective measures?

2) In what types of countries do people have an inclination to try to get high-paying jobs
without regard for job security?

3) Under what circumstance are we more likely to come across stronger correlations
between wealth and happiness?

4) Why do people generally think that health and wealth play a more important role in
bringing about happiness?
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Teil A: Grammatik

101- Gestern konnte er nicht ins Kino gehen, da er zu Hause hat bleiben ------—---- i

1) diirfen 2) konnen 3) miissen 4) wollten
102- Du kannst dich natiirlich um ---------- Job bewerben.
1) den 2) das 3) die 4) der
103- Der gewiihlte Prisident hat sich -----—---- die Unterstiitzung seiner Wihler bedankt.
1) vor 2) auf 3) fiir 4) iiber
104- Das Biiro des Schuldirektors ist so grofl wie mein ---------- Wohnung.
1) — ganzer 2) —e ganze 3) — ganzes 4) —e ganzen
105- Welche der Priipositionen steht nur mit Dativ?
1) von 2) tiber 3) neben 4) anstelle
106- Wie lautet der Genitiv Plural von ,,der Tanz“?
1) die Tédnze 2) der Ténze 3) des Tanzes 4) den Tédnzen
107- Karoline -------—--- sich die Jacke an, bevor er das Haus verliel.
1) ziehte 2) zieht 3) zogte 4) zog
108- Der Mann, auf -----——--—-- Wunsch dieses Krankenhaus gebaut wurde, ist ein
berithmter Chirurg.
1) dem 2) deren 3) denen 4) dessen
109- Der Politiker musste zuriicktreten, ---—------- er in eine Affire verwickelt war.
1) ob 2) weil 3) damit 4) obwohl
110- Seine Entschuldigung indert nichts ---------- , dass er etwas Unanstindiges getan
hat.
1) daran 2) damit 3) dafiir 4) davon
111- Bei welchem handelt es sich um den Positiv des Adjektivs ,,scharf*?
1) scharf 2) schirfer 3) schirfste 4) am schérfsten
112- Die ---------- am Institut LLC stehen allen Interessierten ab 12 Jahren offen.
1) Sprachkiirse 2) Sprachkurser 3) Sprachkurse 4) Sprachkursen
113- In welchem Tempus steht der Satz ,,Im Abteil gab es keinen freien Platz*?
1) Perfekt 2) Prisens 3) Futur 11 4) Priteritum
114- Der Satz ,,Ich hiitte an seiner Stelle das Haus umgebaut® ist ein irrealer ----------.
1) Wunschsatz 2) Aussagesatz
3) Vergleichssatz 4) Konditionalsatz
115- Der Mann war schwer verletzt. ---------- zu zégern, rief ich den Notruf an.
1) Um 2) Ohne 3) Auller 4) Anstatt
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116-

117-

118-

119-

120-

121-

122-

123-

124-

125-

126-

127-

128-

129-

130-

131-

Teil B: Vokabeln

Er hat mehr als 200 Euro fiir einen ---------- gezahlt, den er kaum tragen wird.

1) Teppich 2) Wecker 3) Urlaub 4) Anzug

Ich bin gegen den ---------- . Dabei sterben jedes Mal unzihlige Menschen.

1) Frieden 2) Tausch 3) Krieg 4) Larm

Innerhalb eines Campinggelindes fiihlt man sich ---------- und zufrieden.

1) sicher 2) miide 3) reich 4) elend

Markus ist wegen seines Vaters in ---------- . Es geht ihm nicht gut.

1) Ordnung 2) Getahr 3) Sorge 4) Form

Weil er sich verspitet hatte, musste ich lange auf ihn -------—--.

1) horen 2) warten 3) vertrauen 4) wetten

Ein toter Sperling liegt auf der Strafle. ---------- ist gegen die Windschutzscheibe
eines Autos geknallt.

1) Das arme Insekt 2) Das arme Reptil

3) Der arme Sduger 4) Der arme Vogel

Der alte Graf ist iiber neunzig. Er wird bald ins ---------- beifien.

1) Gras 2) Bein 3) Grab 4) Glas

Er ist seit fiinf Jahren Vegetarier. Er isst also kein(e) ---------- ;

1) Obst 2) Gemiise 3) Fleisch 4) Kartoffel

Eine Garderobe ist u. a. ein Raum, in dem man seine ---------- aufbewahren liisst.
1) Wertpapiere 2) Schulsachen

3) Kleidungsstiicke 4) Gartenwerkzeuge

Ich habe seit einiger Zeit furchtbare Migrine. — Wieso gehen Sie nicht zu einem ----
_____ 2

1) Anwalt 2) Friseur 3) Pfarrer 4) Facharzt

Die Familie ist in letzter Zeit wegen des Todes unseres Vaters in tiefer ---------- .
1) Ruhe 2) Freude 3) Trauer 4) Dankbarkeit

Sein Hobby ist Joggen. Er geht also lieber in ---------- als ins Theater.

1) eine Disco 2) einen Park 3) ein Konzert 4) ein Museum

Du kommst schon wieder zu spiit! — Ja, der Bus ist leider so selten ------—----.

1) umsonst 2) bequem 3) aufregend 4) pitinktlich

Ein Mechaniker arbeitet normalerweise in einer -----—---—-,

1) Werkstatt 2) Drogerie 3) Praxis 4) Bank

Die Nachricht von seinem plotzlichen Tod kam wie ein ---------- aus heiterem
Himmel.

1) Blitz 2) Regen 3) Hagel 4) Donner

Teil C: Wortreihenfolge
Ordnen Sie die Worter zu einem grammatikalisch und inhaltlich korrekten Satz!

unwahrscheinlich / es / fiir / dass / ich / halten / heute / kommen / er
1) Er hilt es fiir unwahrscheinlich, dass heute ich komme.

2) Ich halte es fiir unwahrscheinlich, dass er heute kommt.

3) Es hiilt ihn fiir unwahrscheinlich, dass heute ich komme.

4) Dass er heute kommt,ich halte es fiir unwahrscheinlich.
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132- diese Diirre / bei / eingehen / unsere Pflanzen / alle
1) Bei dieser Diirre eingehen alle unsere Pflanzen.
2) Unsere Pflanzen bei dieser Diirre gehen alle ein.
3) Alle unsere Pflanzen gehen ein bei dieser Diirre.
4) Bei dieser Diirre gehen unsere Pflanzen alle ein.
133- kein Zufall / dass / er / es / sie / das Museum / vor / sein / treffen
1) Dass es kein Zufall war, traf er sie vor dem Museum.
2) Dass er sie vor dem Museum traf, war es keiner Zufall.
3) Es war kein Zufall, dass er sie vor dem Museum traf.
4) Es war keiner Zufall, dass sie ihn vor das Museum traf.
134- herunterlassen / Maria / haben / die Jalousien / der Abend / an
1) Am Abend Maria hat die Jalousien heruntergelassen.
2) Am Abend hat die Jalousien Maria heruntergelassen.
3) Maria am Abend hat die Jalousien heruntergelassen.
4) Am Abend hat Maria die Jalousien heruntergelassen.
135- als ob / tun / sie / er / gesehen haben / nicht / das Médchen / so
1) Das Médchen tat so, als ob sie gesehen hitte ihn nicht.
2) Das Midchen tat so, als ob sie ihn nicht gesehen hiitte.
3) Das Midchen tat so, als ob sie hétte ihn nicht gesehen.
4) Das Midchen tat als ob, so hitte sie ithn nicht gesehen.

Teil C: Liickentext
Ergiinzen Sie den Text mit den richtigen Auswahlmoglichkeiten!

,Na, wie gut, dass ich ja noch nicht der einzige bin,” denkt Herr Siebert ganz auler
(136) -=-=--=-- , als er den Mann im blauen Regenmantel an der Stralenbahnhaltestelle
sieht. ,,Guten Abend“, sagt er. ,,(137) ---------- Sie auch?“,,Wie? Ob ich - auch?
Ja, natiirlich®, antwortet der Mann freundlich. ,,Das Wetter ist heute sehr nass, nicht
(138) =====mm-- 2, sagt Herr Siebert weiter. ,,Da haben Sie (139) ---------- “, antwortet der
Mann. ,,Fast jeden Abend warte ich hier, und wie schnell kann man sich bei so einem
Wetter wie heute (140) ---------- “,Ja, brummt Herr Siebert und wirft einen verzweifelten
Blick (141) ---------- die nasse Asphaltstrae. Einige Autos und Motorrdder fahren
(142) --==-=---- , aber von der StraBlenbahn ist weit entfernt keine (143) ---------- ., Wie
lange warten Sie denn schon?* ,,Ungefédhr fiinfzehn Minuten®, sagt der Mann. ,,Aber sie
kann ja nicht (144) ---------- kommen.”“ ,Na, hoffentlich kommt sie nicht spéter®,
erwidert Herr Siebert. Der Mann antwortet: ,,(145) ---------- kann man sich nie
verlassen.” , Plinktlichkeit kann man aber von ihr (146) ---------- “, sagt Herr Siebert
unfreundlich. ,,Wir sind auch piinktlich. (147) ---------- sie bald kommt? Was denken
Sie?* ,,Da kommt sie ja (148) ---------- “, sagt der Mann. ,,Recht nett von ihr. Das
Theaterstiick hat wahrscheinlich etwas (149) ---------- gedauert, und dann die vielen
Menschen, (150) ---------- die Verspitung!“

136- 1) Atem 2) Frage 3) Betrieb 4) Kontrolle

137- 1) Sagen 2) Gehen 3) Warten 4) Nehmen
138- 1) recht 2) wahr 3) notig 4) richtig
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139- 1) Zeit 2) Erfolg 3) Glick 4) Recht
140- 1) erkilten 2) verletzen 3) bewegen 4) umziehen
141- 1) in 2) an 3) fiir 4) auf
142- 1) nieder 2) vorbei 3) kaputt 4) entlang
143- 1) Spur 2) Linie 3) Folge 4) Nachricht
144- 1) weit 2) ndher 3) frither 4) endlich
145- 1) Dazu 2) Daran 3) Damit 4) Darauf
146- 1) lernen 2) erfahren 3) erwarten 4) bekommen
147- 1) Ob 2) Als 3) Dass 4) Wenn
148- 1) nur 2) mal 3) denn 4) schon
149- 1) weiter 2) langer 3) breiter 4) hdufiger
150- 1) herum 2) worum 3) darum 4) warum

151-

152-

Teil D: Leseverstehen
Text 1:

Nach dem Ersten Weltkrieg war das Geld kaum noch etwas wert: Der Staat hatte immer
mehr Banknoten und Miinzen herausgegeben. Es gab so viel Geld, dass man dafiir kaum
mehr etwas Wertvolles kaufen konnte. Einen solchen Zerfall des Wertes nennt man
Inflation. Die hat man im Jahr 1923 mit einer neuen Zentralbank und einer neuen
Wihrung beendet, der Rentenmark. Kurz darauf kam noch die Reichsmark hinzu. Nach
dem Zweiten Weltkrieg war die Reichsmark auch nichts mehr wert.

Deshalb tauschten die Menschen Waren gegen andere Waren, so wie frither, als es
noch kein Geld gab. Im Jahr 1948 fiihrten die Westméchte (USA, GroBbritannien und
Frankreich) in ihren Besatzungszonen die D-Mark ein. Die Geldscheine wurden in New
York gedruckt und dann in Kisten heimlich nach Deutschland gebracht. Jeder Mensch
bekam 40 Mark als Startgeld. Pl6tzlich gab es in den Lidden wieder alles Mogliche zu
kaufen. Das wird als Beginn des deutschen Wirtschaftswunders betrachtet. Die
Sowjetunion aber lie} in ihrer Besatzungszone die D-Mark nicht zu. Deshalb gab es in
Westdeutschland ab dem Jahr 1949 die Mark der DDR. Diese war aber weniger wert als
die D-Mark. Deshalb wurde in der DDR oft heimlich mit D-Mark gehandelt, weil damit
auch Sachen gekauft werden konnten, die nicht in der DDR hergestellt waren. Im Jahr
1990, noch vor der Wiedervereinigung, wurde die Mark der DDR abgeschafft.

In welchem Land wurden die D-Mark-Scheine gedruckt? In (den) ---------- ;
1) USA 2) Russland
3) Deutschland 4) GroBbritannien

Fiir welchen der folgenden wirtschaftlichen Begriffe gibt es im Text Erklirungen?

1) Insolvenz 2) Inflation 3) Investition 4) Korruption
153- Vor der -------- -- Deutschlands wurde die DDR-Mark fiir immer aus dem Verkehr
gezogen.
1) Einheit 2) Teilung 3) Griindung 4) Kapitulation
154- Laut Text wurden die Geldscheine ---------- nach Deutschland geschickt.
1) per Schiff 2) in Kisten

3) in Briefumschlidgen 4) als Drucksache
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155- Wann kam die D-Mark in Umlauf?

1) Vor dem Ersten Weltkrieg 2) Kurz vor der Wende

3) Um das Jahr 1923 4) Im Jahre 1948
156- Welches Land sprach in Angelegenheiten der DDR das letzte Wort?

1) Dia USA 2) Frankreich

3) Grof3britannien 4) Die Sowjetunion
157- Der Transport der im Ausland gedruckten Geldscheine nach Deutschland war

1) sehr auffillig 2) teuer 3) geheim 4) sinnlos

Text 2:

158-

159-

160-

161-

162-

163-

Die Rocky Mountains sind ein Gebirge in Nordamerika. Es liegt im Westen des
Kontinents und befindet sich sowohl in den Vereinigten Staaten als auch in Kanada.

Die Rocky Mountains sind iiber 4800 Kilometer lang, viermal so lang wie die Alpen.
Man nennt sie auch Kordilleren nach dem spanischen Wort fiir Kette. Vor 30 bis 70
Millionen Jahren ist das heutige Gebirge entstanden. Wie die Alpen hat es sich nach
oben aufgefaltet, als groe Erdmassen gegeneinander gestof3en sind. In den Bergen bleibt
viel Regen hidngen. Er kommt aus den Wolken vom Pazifischen Ozean. In den Rocky
Mountains entspringen einige der wichtigsten Fliisse Nordamerikas. Sie fliellen in ganz
unterschiedliche Richtungen: Der Colorado zum Beispiel miindet in Mexiko in den
Pazifischen Ozean, der Yellowstone River in den Missouri River, den Mississippi und
schlief3lich in den Atlantischen Ozean. Das Klima des Gebirges ist sehr unterschiedlich,
je nach dem, wie hoch man ist oder wie weit im Norden. Der héchste Berg ist der Mount
Elbert mit 4401 Metern. Dort liegt meistens Schnee. Das Gebirge zieht viele Urlauber
an. Man kann dort wandern, bergsteigen oder Wintersport machen. Beliebt sind
Nationalparks wie der Yellowstone-Park. Allerdings wird in den Rocky Mountains auch
Bergbau betrieben. Man baut unter anderem Kupfer, Gold und Kohle ab.

Fiir welche Gruppe sind die Rocky Mountains laut Text besonders interessant?
Fiir --—-—----- i

1) Jager 2) Radler 3) Urlauber 4) Fliichtlinge

Welche der folgenden Sprachen wurde im Text erwihnt?

1) Deutsch 2) Englisch 3) Spanisch 4) Portugiesisch

Wo befinden sich die Rocky Mountains? Im ---------- ’

1) Westlichen Teil Nordamerikas 2) Osten Nordamerikas

3) Siiden des Kontinents Amerika 4) Ostlichen Teil der USA

Welcher der folgenden Fliisse miindet in den Pazifischen Ozean?

1) Colorado 2) Mississippi

3) Missouri River 4) Yellowstone River

Welche Feststellung iiber das Klima in den Rocky Mountains trifft zu? Das Klima
ist dort ------—--—-.

1) iiberall feucht 2) sehr vielfiltig

3) immer trocken 4) warmer als an den Kiisten

Verglichen mit den Alpen in Europa sind laut Text die Rocky Mountains ---------- .
1) gleich grof3 2) viel breiter

3) halb so hoch 4) viermal langer
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Text 3:

Angela Merkel ist seit 2005 Bundeskanzlerin von Deutschland. Sie leitet die
Bundesregierung, die in Berlin sitzt. Sie ist einer der méchtigsten Politiker auf der Welt.
Angela Merkel wurde 1954 in Hamburg geboren. Sie wuchs aber in der Deutschen
Demokratischen Republik auf, genauer gesagt in Templin im heutigen Brandenburg.
Dort arbeitete ihr Vater als Pfarrer in einer Kirche. Nach der Schulzeit studierte Angela
Merkel Physik und arbeitete dann als Forscherin in Ost-Berlin. In der Deutschen
Demokratischen Republik hatte damals nur eine Partei das Sagen, die kommunistische.
Im Jahr 1989 hatten die Leute endlich genug davon und demonstrierten, um mehr
Mitsprache und echte Wahlen zu fordern. In dieser Zeit wurde Angela Merkel
Politikerin. Im Jahr 1990 trat sie in die CDU ein. Das ist die Partei der Christdemokraten
in Deutschland. Im gleichen Jahr wurde sie in den Bundestag gewéhlt. Unter dem
damaligen Bundeskanzler Helmut Kohl gehérte Merkel schon einmal der Regierung an:
Sie war erst Ministerin fiir Frauen und Jugend, spiater Umweltministerin. Im Jahr 2000
wurde sie die Vorsitzende ihrer Partei CDU. Das war sie dann bis Ende 2018. Nach der
Bundestagswahl 2005 wihlte der Bundestag sie zum ersten Mal zur Bundeskanzlerin. In
den Jahren 2009, 2013 und 2018 wurde sie als Bundeskanzlerin wieder gewdhlt. Thre
aktuelle Amtszeit geht bis ins Jahr 2021.

164- Worum handelt es sich bei der Abkiirzung CDU? Um ---------- i

1) eine Partei 2) einen Vertrag
3) eine Automarke 4) ein Forschungsinstitut
165- Welcher Titigkeit ging Angela Merkels Vater nach? Er war ein -------—-- ’
1) Mediziner 2) Geistlicher 3) Politiker 4) Fahrer
166- Wo ist der Sitz der deutschen Bundesregierung?
1) Bonn 2) Berlin 3) Frankfurt 4) Hamburg
167- Als was war Angela Merkel in der Ara von Helmut Kohl u. a. tiitig? Als ---------- A
1) Anwiltin 2) Ministerin
3) Botschafterin 4) Bundestagsprisidentin
168- Gibt es im Text einen Hinweis darauf, wann Merkel eine Politikerin wurde?
1) Ja, im Jahr 2000 2) Ja, das war in 2005.
3) Ja, ziemlich genau 4) Nein, tiberhaupt nicht
169- Wo ist die Bundeskanzlerin Angela Merkel aufgewachsen? In ----------,
1) der Schweiz 2) den USA
3) Westdeutschland 4) der DDR
170- Welches Fach hat Merkel an der Universitit studiert?
1) Jura 2) Physik
3) Informatik 4) Politikwissenschaft
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Partie A: Grammaire

Complétez les phrases suivantes en cochant la réponse correcte:

101- Pour faire un bon giteau, il faut avoir ---------- farine complet.

1) la 2) de 3) une 4) de la
102- J'aime beaucoup les biscuits surtout ---------- de ma grand-mére.

1) ceux 2) celles 3) celles-ci 4) celui que
103- Ce livre est formidable; je ---------- ai commencé ce matin.

Hlr 2)en 3) lui 4)y
104- 1l y a quelques années, nous ---------- de la lecture a haute voix a I'école.

1) ferons 2) faisions 3) ferions 4) faisons
105- J'adore tes baskets. Je trouve que les ---------- ne sont pas aussi beaux.

1) sien 2) leur 3) miens 4) tiens
106- ---------- consiste sa propriétaire? Il y a la grange, le champ et le bois.

1) Que 2) Par quoi 3) En quoi 4) De quoi
107- La ville ---------- je me trouve est confinée depuis mars.

1) ou 2) que 3) qui 4) dont
108- C'est Marie qui prononce ---------- de tous les éléves de la classe.

1) mieux 2) le mieux 3) meilleure 4) la meilleure
109- Si elle souhaitait absolument voir son directeur, elle ~—-------- un rendez-vous.

1) prend 2) prenait 3) prendrait 4) prendra
110- Ce soir le ciel est clair, cette nuit il ——--—--—-—-,

1) gele 2) gelait 3) gelerait 4) gelera
111- Les voisins ont fait installer une alarme ---------- des voleurs.

1) pour 2) en vue de 3) de peur de 4) afin de
112- ---------- le voyage de retour, j'ai fait la connaissance d'une jeune francaise.

Ilya 2) Pendant 3) Jusqu'a 4) Depuis
113- Ces explications sont assez claires pour que n'importe qui les ------——-- ;

1) comprendra 2) comprend 3) comprenne 4) comprendrait
114- Le match -----—-—-—-- deés que la pluie cessera.

1) aura repris 2) aurait repris 3) reprend 4) reprendra
115- Les stars sont toujours habillées ---------- lors de la remise des prix.

1) élégants 2) élégante 3) élégamment 4) élégantement
116- lly a -----———--- de vaisselles sur cette étagére. Elle va tomber.

1) trop 2) assez 3) peu 4) tres
117- As- tu déja eu le résultat du concours? Non, je ne I'ai ---------- eu.

1) plus 2) rien 3) jamais 4) pas encore
118- Bien qu'elle n'---------- que cinq ans, elle parle parfaitement deux langues.

1)a 2) ait 3) aura 4) aurait

119- Je voudrais des roses pour un bouquet. Je vois que vous en avez de belles; ----------
un joli bouquet.

1) faites-m'en 2) faites-en-moi 3) en faites-moi 4) m'en faites
120- Le chat qui joue avec une balle vit ---------- mon oncle.
1) par 2) chez 3) devant 4) pour

Partie B: Vocabulaire:

Complétez les phrases suivantes en cochant la réponse correcte:

121- En famille, dans l'intimité, tout le monde portait des ----------

1) bottes 2) sandales 3) pantoufles 4) escarpins

122- En France, les personnes agées ont recu la premiére injection de ---------- pour étre
protégées contre le covid 19.
1) soin 2) remede 3) vaccin 4) traitement

123- Elle a quitté la ville pour aller vivre dans une ---------- afin de consommer des
produits de la terre.
1) ferme 2) chalet 3) demeure 4) immeuble
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124- Les enfant exposés aux pollutions des automobiles développeraient plus facilement
des allergies; donc les enfants dans leur ---------- sont plus en danger face a la
?ollution.
) charrette 2) petite voiture 3) charriot 4) poussette
125- Parmi les sports d'équipe le --———----—-- ne cesse de gagner en popularité et faire le
bonheur de tous.
1) golf 2) tennis 3) football 4) hockey
126- J'ai ---------- Julien au restaurant samedi soir.
1) emporté 2) amené 3) apporté 4) emmené
127- Pendant le premier confinement, on voyait les journalistes --—----—-— car les coiffeurs
étaient fermés.
1) usés 2) décrépis 3) décoiffés 4) dépeignés
128- 1l avait I'habitude de raconter des histoires curieuses pour ---------- les vieilles
femmes et les enfants.
1) effrayer 2) violenter 3) brutaliser 4) brusquer
129- Elle avait hérité les cheveux ---------- de sa grand-mere africaine.
1) frisés 2) lisses 3) raides 4) bouclés
130- Alice accepte de lui donner une seconde chance car elle voulait étre reconnue
comme
---—------ dans le service.
1) brave 2) gentille 3) douce 4) courageuse
131- Elle adorait la ---------- et se faisait des vétements magnifiques.
1) peinture 2) jardinage 3) bricolage 4) couture
132- Dés 1962, en Californie, beaucoup de psychanalystes proposent des ---------- de
§r0upes pour guérir les patients. _ . .
) traitements 2) thérapies 3) discussions 4) médicaments
133- ---------- est un phénomeéne naturel par lequel des goutte d'eau tombent des nuages
vers le sol.
1) L'orage 2) La neige 3) La tempéte 4) La pluie
134- L'endroit de la jambe ou I'on peut le plier est ---------- A
1) le pied 2) le genou 3) la cuisse 4) le coude
135- Le plus grand animal qui vit dans la mer est ---------- "
1) une baleine 2) un dauphin 3) un requin 4) un éléphant
136- J'ai -----——---- le spectateur qui était dans l'embarras de choisir son film.
1) dit 2) assuré 3) annoncé 4) conseillé
137- Actuellement, on n'a plus besoin -------- -- ¢ar avoir une copie en papier n'est pas
nécessaire.
1) d'écran 2) de scanner 3) de clavier 4) d'imprimante
138- Chaque année, elle fait de la confiture de fraises et offre ses ---------- aux confitures
aux membres de la famille.
1) pots 2) boites 3) tubes 4) cannes
139- Le taux ---------- est monté a cause de la crise sanitaire dans le monde entier.
1) de PNB 2) d'impot 3) de chdmage 4) de croissance
140- En recevant sa médaille de la légion d'honneur, il était tellement ---------- qu'il
n'arrivait pas a parler.
1) triste 2) ému 3) faché 4) surprise

Partie C: Lisez les conversations suivantes puis répondez aux questions qui suit

chaque conversation en cochant la case correcte:

141- Pierre: Vous faites souvent du jogging?
Renaud: Oui, tous les matins, et vous?
Pierre: Oui mais je fais du tennis. Vous ne faites pas de tennis par hasard?
Renaud: Si, j'adore ca! Et il y a un club dans le quartier. Voulez-vous qu'on
fasse une partie samedi?
Pierre: Bonne idée.

Renaud ---------- de faire du tennis avec Pierre.
1) accepte volontiers 2) refuse catégoriquement
3) se met en colére 4) donne la permission
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142- Mme Ledoux: Alors vous connaissez Julien mon petit-fils?

Mme Orsini: Oui, c'est mon nouveau voisin. C'est un garcon tranquille, poli et

cultivé.

Mme Ledoux: Et vous avez vu son amie Juliette? Elle est charmante, non?

Mme Orsini: Oui une jolie fille mais elle est un peu agressive.Je trouve...

Mme Ledoux: Ah bon ! Pourquoi vous dites ¢a?

Mme Orsini trouve que Juliette est ---------—-.

1) optimiste 2) agressive 3) sympathique 4) nerveuse
143- Médecin: Bonjour Monsieur, en quoi puis-je vous aider?

Monsieur: Bonjour, je ne sais pas ce que j'ai. J'ai trés mal au ventre.

Médecin: D'accord, je vais vous examiner.

Le patient ------—--- un médecin pour son mal du ventre.

1) suggere 2) conseille 3) consulte 4) recommande
144- La vendeuse: Bien siir, il fait 32 euros.

Le client: Et ce stylo bleu, 1a?

La vendeuse: Tous ces stylos sont a 47 euros.

Le client: Alors je vais prendre le bleu.

La vendeuse: C'est pour offrir?

Le client: Oui, svp.

La cliente va offrir -------——- "
1) un stylo bleu 2) une boite de chocolat
3) un bouquet de fleur 4) une bouteille de parfum

145- - Bonjour, je voudrais parler a Marie Legrand svp.
-Ah oui, je vois c'est de la part de qui?
- Florence Dupuis.
- e Je suis désolée, elle n'est pas 1a. Vous voulez laisser un message.
1) Ne téléphonez plus 2) Ne laissez pas
3) Ne rappelez pas 4) Ne quittez pas

PART D: la mise en ordre des mots

Placez les éléments suivants dans un ordre correct.

146- chien-viendra-promenade-en-avec-mon-nous
1) Mon chien en promenade viendra avec nous.
2) En promenade mon chien viendra avec nous.
3) Avec nous mon chien viendra en promenade.
4) Mon chien viendra avec nous en promenade.

147- prend-le-a-son-papa-train-se-pour rendre-travail
1) Papa prend pour se rendre a son travail le train.
2) Papa prend le train pour se rendre a son travail.
3) A son travail pour se rendre papa prend le train.
4) Pour se rendre papa prend le train a son travail.

148- prét-tu-pour-l'examen-n'es-pas

1) Pour I'examen tu n'es pas prét. 2) Prét tu n'es pas pour I'examen.

3) Tu n'es pas pour lI'examen prét. 4) Tu n'es pas prét pour I'examen.
149- sommes-avec-nous-d'accord-vous

1) D'accord nous sommes avec vous. 2) Avec vous nous sommes d'accord.

3) Nous sommes d'accord avec vous. 4) Nous sommes avec vous d'accord.
150- je-de-finirai-demain-ce-lire-roman

1) Je finirai de lire demain ce roman. 2) Ce roman je finirai de lire demain.

3) Je finirai demain de lire ce roman. 4) Demain je finirai de lire ce roman.
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PART E: Texte a compléter

Complétez le texte suivant a l'aide des réponses proposées

151-
152-
153-
154-
155-
156-
157-
158-
159-
160-

La Toussaint avait pass€, mais Marie n'allait toujours pas a I'école. Au dernier moment le
pere avait refusé (151) -------——-- les promesses (152) ---------- a la mere la nuit
(153) ==------- Marie avait surpris leur conversation.

Attendons encore un peu, avait-il décidé. Abel aura treize ans a la prochaine
(154) -=----—--- et il pourra remplacer sa sceur ici, dans la maison,tout en m'aidant moi
aussi. Et puis Mélanie se débrouillera toute seule. La mére avait accepté les
(155) —==mmmmmmm du pere.

(156) ---------- au fourrage introuvable, le pere se résigna a vendre les brebis au prix
de 15 francs. Ils repartirent, malheureux, sur la route (157) ---------- . A un moment,
comme ils traverserent le bois, sentant le pere (158) ---------- , Abel demanda cherchant a
le divertir:

Croyez-vous que le maitre achéte une batteuse?

I1(159) ---------- a l'idée.

Abel n'ouvrit plus la bouche (160) ---------- le restant du trajet et le pere non plus.

1) malgré 2) grace 3) alors 4) donc

1) faits 2) fait 3) faites 4) faite

1) ou 2) dont 3) qui 4)que

1) visite 2) rentrée 3) ouverture 4) recommencement
1) raisons 2) causes 3) arguments 4) €claircissements
1) Songé 2) Songer 3) Songe 4) Songeant

1) poussi€reuse 2) poussicre 3) poussicres 4) poussante

1) préoccupant 2) préoccuper 3) préoccupé 4) préoccupe

1) le 2) en 3y 4) lui

1)en 2) pendant 3) lors 4) depuis

PART F: Compréhension de texte

Lisez les textes suivants et répondez aux questions:

161-

Texte 1

La journée mondiale de I'eau a été instaurée par l'organisation des Nations unies en 1992.
Elle se célebre le 22 mars de chaque année avec des themes différents. Le theme de cette
année est "L'eau pour les villes: répondre au défi urbain".

La journée mondiale de l'eau nous rappelle combien la qualité de ce liquide est
importante.

2 milliards et demi de personnes n'ont pas acces a l'eau potable. Et pourtant, l'eau
saine, c'est la santé! C'est pourquoi I'ONU et les ONG ont consacré cette journée a
I'importance de la qualité et I'acces a 1'eau pour tous.

"Eau" wvient du latin "aqua", et désigne ce liquide naturel, incolore, inodore
transparent et indispensable a toute forme de vie. "potable" provient du verbe latin potare
qui signifie boire.L'eau potable, c'est donc de I'eau que I'on peut boire sans danger.

En France,les eaux usées- eau de vaisselle, des toilettes, par exemple-sont récupérées
pour étre traitées dans une station d'épuration afin de les rendre propres a
l'utilisation.L'eau potable coule dans les robinets mais dans de nombreux pays l'acces a
I'eau saine n'existe toujours pas.

Qu'est- ce que I'eau potable?

1) C'est I'eau des sources

2) C'est I'eau a I'état naturel.

3) C'est I'eau en bouteille proposée dans le commerce.

4) C'est I'eau que 1'on peut boire sans risque pour la santé.
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162-

163-

164-

165-

166-

167-

168-

169-

170-

D'ou vient le mot "eau" ? Elle vient ---------- .

1) du latin "aqua". 2) de I'anglais "voda".

3) du grec "hudor” 4) du sanscrit "udan"

Quand la journée mondiale de 1'eau a été instaurée?

1) En 1992 2) En 2004 3) En 2011 4) En 2020
—————————— I'eau potable coule dans les robinets.

1) En Inde 2) Dans le tiers-monde

3) En France 4) Partout dans le monde

La cause de la mort de 1.5 millions d'enfants de moins cinq ans est ---------- .
1) la maladie 2) la pollution de I'eau.

3) le manque de vaccin 4) le manque du systéme sanitaire

Texte 2

Qu'arrive-t-il aux abeilles? Depuis quelques années, en France, les populations d'abeilles
diminuent,et ce phénomene n'est pas exclusif de la France. Les spécialistes essaient de
comprendre 'origine de ce mal invisible qui pourrait devenir un véritable probléme pour
I'environnement...Que se passera-t-il si les abeilles disparaissent? Ce n'est pas seulement
le gott de 'homme pour le miel qui souffrirait. L'abeille est beaucoup plus qu'une simple
productrice de nectar. C'est I'abeille qui transporte le pollen d'une fleur a l'autre. S'il n'y a
pas d'abeilles , il n'y a pas de pollinisation. Sans pollinisation, certaines especes végétales
disparaissent, ce qui provoque a son tour la disparition d'especes animales... C'est toute
une chéne biologique qui est altérée.

Partout dans le monde, des scientifiques étudient cet étrange phénomene. Leur
conclusion est terrible: la cause est multiple, et I'homme est le responsable direct de la
disparition des abeilles. Entre autres causes, il y a les pesticides, qui sont utilisés dans
I'agriculture pour protéger les cultures et les plantes des insectes et des maladies. Les
abeilles sont forcément en contact avec ces substances toxiques. Ensuite, il y a le
développement des villes et des champs qui occupent chaque jour plus d'espace. Il y a de
moins en moins de prairies....donc de fleurs différentes et de nourriture pour les abeilles.
Une fois de plus, c'est 'homme qui menace le fragile équilibre naturel.

Pour l'instant, la situation n'est pas alarmante, on compte encore 200000 especes
différentes en 2020 mais elle est préoccupante. Et I'hnomme a l'obligation de protéger ce
petit insecte sans qui notre monde serait tres différent.

Le texte ci-dessus --------—-,

1) décrit la vie des abeilles

2) compare les abeilles avec les mouches

3) parle exclusivement de I'environnement

4) donne les causes de la disparition des abeilles

La disparition des abeilles est un phénomeéne ---------- g

1) européen 2) mondial 3) américain 4) frangais
Le responsable de la disparition des abeilles est ----------,

1) I'hnomme 2) la nature

3) la fragilité de I'espece 4) la technologie

La pollinisation dépend en partie ----------.

1) de la science 2) de I'homme

3) des abeilles 4) de la diversité des plantes
L'équilibre de la nature est ---------- pour la survie des abeilles.

1) inutile 2) facultatif 3) nécessaire 4) superflu
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Teil A: Grammatik

Er schickte mir die Seiten, auf ---------- die schwierigen Worter markiert waren.

1) dem 2) denen 3) deren 4) dessen

Im Satz ,,Der Film ist spannend* steht das Adjektiv im ----------,

1) Positiv 2) Elativ 3) Superlativ 4) Komparativ

Wir ---------- keine Zeit verlieren, der Zug fihrt in einer halben Stunde ab.

1) diirfen 2) wollten 3) konnten 4) mochten

In welchem Kasus steht der Artikel im Ausdruck ,,durch den Wald*?

1) Dativ 2) Genitiv 3) Nominativ 4) Akkusativ

Ich -—====—--- mich sehr ---------- , als ich die Nachricht horte.

1) bin / gefreut 2) bin / gefreuen

3) habe / gefreut 4) habe / gefreuen

In welchem Tempus steht der Satz ,,Die Schiiler haben einen Aufsatz geschrieben*?
1) Perfekt 2) Futur I1 3) Présens 4) Priteritum

Der Satz ,Dietmar sprach so gut Englisch, als ob er Englinder wire.” ist ein

irrealer ----------,

1) Wunschsatz 2) Aussagesatz

3) Vergleichssatz 4) Konditionalsatz

Wie lautet der Dativ Plural von ,,der Raum*?

1) dem Raum 2) den Rdume

3) der Rdumen 4) den Rdumen

Die beiden waren einst sehr gute Freunde. Jetzt gehen sie aneinander vorbei,
—————————— zu griillen.

1) um 2) ohne 3) auBBer 4) damit
Man hat das Dokument an ---------- Ort versteckt.

1) ein geheimer 2) einen geheimen

3) einem geheimen 4) einem geheimem

Teil B: Vokabeln

Der bestellte Computer wird mit Tastatur und ---------- ausgeliefert.

1) Ratte 2) Maus 3) Frosch 4) Katze
Welches Wort passt nicht in die Reihe?

1) Burg 2) Tempel 3) Mosche 4) Synagoge
Haben Sie ---------- verloren! Was Sie tun wollen, ist sehr gefihrlich.

1) das Gehirn 2) die Vernunft

3) den Gedanken 4) den Verstand

Die Firma braucht Geld. Sie muss aus den ---------- Zahlen herauskommen.
1) roten 2) blauen 3) griinen 4) gelben

Ich hatte in letzter Zeit viel um die ---------- gehabt und konnte meinen Vater nicht
besuchen.

1) Beine 2) Ohren 3) Finger 4) Hande
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Teil C: Liickentext

Erginzen Sie den Text mit den richtigen Auswahlmaoglichkeiten!

Puschkin war sehr (91) ---------- , als er eines Tages in Petersburg einen Ball besuchte. Er
bat eine junge Dame um den nichsten (92) ---------- . Die Dame sah Puschkin an und
sagte (93) ---------- : ,Mit einem Kind tanze ich nicht!* Puschkin (94) ---------- :
»Verzeihung, meine Dame, ich wusste nicht, dass Sie ein Kind erwarten.”
Er verbeugte sich (95) ---------- und ging in einen anderen Saal.

1) alt 2) klein 3) grof} 4) jung

1) Termin 2) Schritt 3) Tanz 4) Zug

1) zufrieden 2) neugierig 3) hochmiitig 4) interessiert

1) griidte 2) traf 3) ordnete 4) lachelte

1) tapfer 2) hoflich 3) stindig 4) dngstlich

Teil D: Leseverstehen

Die franzésische Schauspielerin Sarah Bernard spielte in einem Theaterstiick die Rolle
einer Bettlerin. Sie hatte gerade die folgenden Worte gesprochen: ,,Ich bin so arm, dass
ich nicht einmal mehr Kraft zum Gehen habe! Ich werde vor Hunger sterben!* Plitzlich
bemerkte sie, dass sie vor dem Auftritt vergessen hatte ihr goldenes Armband
abzunehmen. Ehe sie weiter nachdenken konnte, rief jemand aus dem Publikum:
,Verkaufen Sie doch das goldene Armband!* Sarah Bernard antwortete schlagfertig:
,Das habe ich ja versucht, aber es ist leider nicht echt!*

Welche Uberschrift passt am besten zum Text?

1) Arrogant 2) Hilfsbereit

3) Fremd 4) Schlagfertig

Aus dem Text geht hervor, dass Sarah Bernard nicht auf den ---------- Gefallen war.
1) Kopf 2) Mund 3) Bauch 4) Finger

Welcher der folgenden Umstiinde bereitete Sarah Bernard wiihrend des Auftritts
zu schaffen?

1) Miidigkeit 2) Ehrlichkeit

3) Wutausbruch 4) Vergesslichkeit

Was war Sarah Bernard von Beruf?

1) Erzieherin 2) Journalistin

3) Darstellerin 4) Dramatikerin

Welche Rolle spielte Bernard im Schauspiel? Die Rolle einer ----------,
1) Bettlerin 2) Politikerin

3) Verkduferin 4) Krankenschwester
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Partie A: Grammaire
Complétez les phrases suivantes en cochant la réponse correcte:

Nous avons --------- réunion dans une heure.

1) la 2)de 3) une 4)dela
J'adore les crépes, surtout --------- de ma grand-mére.

1) celles 2) ceux 3) celui 4) celle

Ma mére me dit de penser a mon avenir. Mais --------- pense tous les jours.

'y 2)j'en 3) je lui 4)jele

Tous les étés, nous --------- a la mer chaque matin avec le club de plongée.

1) allions 2) sommes allés 3) allons 4) étions allés

--------- pouvons-nous organiser l'anniversaire de Jean? Mon appartement est assez grand
pour recevoir tout le monde.

1) Pour qui 2) Chez qui 3) Avec qui 4) De qui

Il y a beaucoup de forét dans le pays --------- tu vis.

1) ou 2) qui 3) que 4) dont

De toutes les garnitures, les légumes frais coitent -------—-- ;

1) plus cher 2) le plus cher

3) plus chéres 4) les plus cheres

Si tu mangeais plus proprement, tu --------- plus besoin de ta serviette comme un
bébé.

1) n'as 2) n'avais 3) n'auras 4) n'aurais

Il est nécessaire que vous ----—---- a cette réunion.

1) venez 2) veniez 3) étes venu 4) viendrez
Ce soir, nous --------- le combat de judo a la télévision.

1) suivons 2) suivrons 3) suivrions 4) avons suivi

Partie B: Vocabulaire:
Complétez les phrases suivantes en cochant la réponse correcte:

Pierre a acheté son cabinet d'avocats a bas prix car il se trouvait dans un quartier -------- ]
1) luxe 2) industriel 3) résidentiel 4) commercial
Comme ses arthroses la faisaient souffrir, elle a demandé un rendez-vous a

1) radiologue 2) cardiologue 3) psychologue 4) dermatologue
Quand Marie va courir le matin, elle ~——----—-—- toujours une bouteille d'eau.
1) ameéne 2) apporte 3) emporte 4) emmene

Beaucoup d'Iraniens achétent leur voiture a la compagnie car on n'a pas confiance dans
les voitures ---------,

1) exportées 2) importées 3) étrangeres 4) d'occasion
Elle a mis des --------- de son petit garcon pour protéger ses petits pieds de la neige.
1) bottes 2) sandales 3) pantoufles 4) escarpins
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Partie C: Texte a Compléter:

Les éleves arriverent toutes en méme temps mais attendaient dans le couloir

(91) -==mmmm-- d'entrer. A huit heures (92) ---------- , la mére invita Marie a sortir et a
s'aligner en bout de rang. La mere frappa dans ses mains, et aprés (93) --------- le silence,
fit entrer ses ¢€leves. Marie ne connaissait pas les autres mais elle avait
(94) —--==mmm-- une fille de son age le jour de sa visite avec le curé.

A nous deux les nouvelles, dit enfin la religieuse en se dirigeant vers Marie
(95) ~=-=mmmmm- tremblait de peur.

1) I'accord 2) l'occasion 3) la permission 4) l'acceptation
1) précis 2) précisé 3) précision 4) précises

1) obtenir 2) a obtenu 3) étre obtenu 4) avoir obtenu
1) apergu 2) apercue 3) apergues 4) apercus

1) ou 2) que 3) dont 4) qui

Partie D: Compréhension de Texte:
Lisez le texte suivant et répondez aux questions:

Le handball est un sport de ballon qui propose deux équipes de 7 joueurs. Il s'agit pour
chaque équipe de marquer un maximum de but dans le camp adverse, en utilisant
seulement les mains, mais quels sont les bienfaits de ce sport?

Le handball est une activité physique qui a de nombreux bienfaits. D'abord, il
renforce le systeme cardiovasculaire et le systéme respiratoire. Ensuite, il fortifie les
muscles et les os. Puis, il développe la vitesse, 1'agilité et la force corporelles. Enfin, le
handball est un sport qui donne beaucoup d'énergie. De plus le handball est le sport le
plus pratiqué dans les écoles en France!

L'auteur de ce texte ——-------,

1) décrit un match 2) informe le lecteur

3) commente un match 4) critique le jeu de I'équipe adverse
Le handball s'oppose deux équipes de --------- .

1) 7 joueurs 2) 11 joueurs 3) 10 joueurs 4) 12 joueurs

Choisissez la phrase vraie:

1) Le handball est un sport qui oppose trois équipes

2) Les écoles en France pratiquent rarement le handball

3) Le handball renforce le systeme cardiovasculaire

4) Le handball est un sport pratiqué seulement par les hommes

Le handball est un sport bénéfique pour les jeunes car il fortifie ---------,

1) la morale 2) l'intelligence

3) les muscles 4) la concentration
Le handball est un sport ---------- ‘

1) d'équipe

2) individuel

3) qui n'a pas de filet
4) qui est joué avec un ballon de basket-ball

forum.konkur.in



www.konkur.in

Wanio 09 35 531-A

76-

77-

79-

80-

82-

83-

84-

85-

86-

87-

89-

90-

A. BbibepuTe npaBu/ibHbII BADHAHT OTBETA:

Moii crapmuii 6par ¢ 1eTCTBa 3aHHMAETCH ----------,

1) o cnopre 2) ciopT 3) cnopra 4) cniopTom
3aBTpa ---------- HeT BPEMEHH.

1) ot Hee 2) e 3) y Hee 4) ee

1 mogapio -—-------- CJI0BApPb.

1) crapimiemy Opaty 2) crapiuuii Opat 3) crapuiero Opara 4) y crapuero Opara
Ha sxckypcenn Mbl pororpagupoBaiy ----------,

1) Haw apyr 2) Hailero japyra 3) HaweMy Apyry  4) o Haiem Japyre
AHTOH OYeHb JIIOOHT --——------ .

1) c mnaaieid cectpoid 2) muajuiei cecTpsl

3) maaaiuas cecTpa 4) muaauyo cecTpy

Ee --------— #uBYT B MockBe.

1) OparneB 2) 6paTbaM 3) 6paTesa 4) 6paTbax

Y nero ner ———--—-- » UTO MHE HYJKHO.

1) Toro 2) Tomy 3) c rem 4) To

Ona kynujia ---------- GIJIeT Ha KOHIEePT.

1) Huny 2) Hune 3) Huna 4) Hunsl
Beuepom Harama 6b11a y akTpHchl, ----—------ 0Ha padoTaeTt JaBHO.

1) koTopas 2) ¢ KOTOPbIM 3) KoTOpOi 4) ¢ koTopoit
ITO MOH APY3bSl, -~—------- KHBYT B MockBe.

1) koTopoe 2) KOTOpbIE 3) KOTOpBIii 4) koropas
Tenepb O.FIEI" AHBET JAJIEKO0 0T HHCTHTyTa H HHOr'aa ---------- HA JIEKIIHH.

1) onazabiBaer 2) ono3jaer 3) ono3pgan 4) onaszibiBall
OH He 3HaeT, ---------- HAYHHAETCS KOHIIEPT.

1) orkyna 2) Kyaa 3) koraa 4) nouemy
Ceiiuac Mapra --------—-- B LEHTP.

1) xomurt 2) ener 3) uatu 4) e3nut
Kapruna, ---------- MO.101bIM XYA0/KHHKOM, MOJYYH/Ia HA BLICTABKE NPEMHIO.

1) HanucaHHoOM 2) HaMKUCAHHOTO 3) HaMMCAHHYIO 4) nanucanHas
---------- IK3aMeHbI, MbI YelleM HA PAKTHKY.

1) Cnas 2) CraBmmMu 3) Cnasmux 4) CnaBiuium
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b. /.]],OI'IO.J'IHHTB TEKCT, HCIIOJIb3YH NMoaxoasilee no CMbICJY CJ10BO.

beiio yxxe wacoB aecsath Beuepa, ¥ Hag (91) ---------- CBeTH]A MosiHaa JyHa. B nome
IIyMHHBIX TOJBKO YTO KOHUMIACH (92) ---------- , KOTOpYI0 3aka3biBaia 6adymka Mapda
MuxaiinoBna, u ternepsb (93) ---------- BHIHO OBIJIO, KaK B 3aji¢ HAKPBLIBAAM HA CTOJ s
3aKyCKH, Kak B (94) ---------- MBIIIHOM IIEIKOBOM IUIaThe cyeruaach OaOymika. Oreny
Anppeii ToBOpuII 0 4eM-To ¢ (95) ---------- Hanu.

1) can 2) canom 3) cany 4) cane

1) BcenowHy0 2) BCEHOIIHOM 3) BceHomHas 4) BceHoMmHOE

1) Hame 2) Hansa 3) Hamio 4) Hagn

1) cBoe 2) croel 3) croeM 4) cBoux

1) maTh 2) marepu 3) marepeid 4) mareprio

B. I']poquTaiiTe TEKCT H BBINNOJHHTE 32/IaHHUA IMOCJIE HETO:

Mens 30ByT Jlenuc. XoTs MHE YK€ UAET ACBATHIH IO, A TOJBKO BUEpaA JAOraaascs, 4yTo
YPOKH BCe-Taku Haa0 yuuTb. JItoOuib He moOulllb, XOUellb He X04Yelllb, a YUUTh YPOKH
Ha/J0. DTO 3aKOH. A TO MOYKHO B TaKyl0 MCTOPHUIO BIANATHCA, YTO CBOMX HE y3Haelb. S,
HarpuMmep, BUepa He ycriel YpOoKH ciefiaTb. Y Hac ObLIO 337aHO BBIYYUTH KYCOUEK M3
ofnHoro cruxorBopeHusi Hekpacora. A s, BMecTo TOro uytofbl YUMTHCS, 3amycKasi BO
nBope 3mest B kocmoc. Hy, oH B KOcMOC Bce-Taky He 3aJ€TEN, MOTOMY YTO Y HEro ObL
yepecuyp JIerkuii XBOCT, U OH U3-3a 3TOr0 KPYTHJICS, Kak BoiuoK. M g Tak 3aBo3usics ¢
TUM 3MEEM M KOCMOCOM, YTO COBEPIIEHHO 1103a0bL1 000 BceM Ha cBere. MHe OblIo Tak
MHTEPECHO WUIpaTh, YTO s W JAyMarTh MNEpecTal Mpo KakKUe-TO Tam YpPoku. S yTpom
HEMHOJKKO 3acnajcsi, U, KOrja BCKOYUJ, BPEMEHU OCTaBAJIOCh YyTh-uyTh... Ho A uuran,
KaK JIOBKO OZICBAIOTCS MOXKAPHBIC — Y HUX HET HU OJIHOTO JIMILHErO JABWKEHUSA, U MHE J10
TOrO 3TO MOHPABUIIOCH, UTO 5 MOJI-JeTa TPEHUpOoBajcs ObIcTpo oaeBaThes. M ceroaus g
KaK BCKOYMJI W TJISIHYJ Ha 4ackl, TO Cpa3y MOHsI, YTO OAEBATHCA HA0, Kak Ha noxap. U1
S OJIeNICs 32 OAHY MHUHYTY COPOK BOCEMb CEKYHJ BECb, KaK CJICAYET, TOJBKO IIHYPKU
3allIHYpOBAI uepes3 JABe AbIpoukd. B olieM, B IKOIY 5 MOCMENT BOBPEMS U B KJI1acc TOKE
yCHeJl IpuM4aThes 3a CeKyHay 10 Paucel IBaHOBHBI.

Yro nonsa Jdenuc?

1) uro Hano Bceraa OOUTH YPOKH 2) 4TO HA0 YUUTb YPOKH

3) 4TO HaJ0 MOMOTaTh CTAPIIUM 110 JOMY 4) UTO HY)KHO BCerjia roBOPUThH NPaBLy
Yro [denucy 0ObLJI0 321aH0 HA q0M?

1) BeIyunTh Kycouek ctuxorBopeHus Hekpacosa

2) BBIYUUTh KycOUek cTuxoTBopeHus [lymkuna

3) urpars BO J1Bope B (pyTO0I

4) 3amycKarthb BO JIBOPE 3Mes B KOCMOC

3a ckoibKo Bpemenu oaencs dennc?

1) 3a 01HY MUHYTY COPOK BOCEMb CEKYH/I

2) 3a 0JIHY MUHYTY COPOK CEKYH/]I

3) 3a 0/IHY MUHYTY COPOK I5ITh CEKYH/]

4) 3a 01HY MUHYTY COPOK ACBATb CEKYH]L

Yro nenan JleHHc BMECTO TOro, 4TO0bI YUHTHCs1?

1) cmorpen TeneBu3op 2) urpan B ¢pytboa

3) 3amyckain BO3/yHIHOr0 3Mesi B KocMoc  4) Bhlyuus cTuxoTBopenne Hekpacora
B gem /lenunc TpeHnpoBaJics noJi-jiera’?

1) OpicTpo Oerathb 2) OBICTPO €CTh

3) XOpoL10 NpsATaThCs 4) ObICTPO 0/1€BATHCS
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Capitolo A: Indicate la risposta corretta

Che cosa regali al nonno? ---------- una pipa.

1)La 2) Lo 3)Le 4) Gli
Andiamo ---------- casa di un mio amico.

1)a 2) da 3)in 4) nella

11 signor Rossi ha due figli: Clara e Paolo. Clara e ------—-- di Paolo

1) la madre 2) la sorella 3) I'amica 4) il fratello
Stamattina Carla ---------- in fretta.

1)sie’ levato 2) e’ levata 3)sie’ levata 4) ha levata
Avete mai fumato questo tipo di sigarette? Si, ---------- provare un nostro amico.
1) ce ne ha fatta 2) ce ne ha fatte 3) ce ne fatto 4) ce I'ha fatta
Non -------—--- sbaglio! Noi ti guardiamo.

1) lo fa 2) fare 3) faccia 4) faccio
Giacomo ---------- con te, purtroppo sua sorella viene a visitarlo.

1) viene 2) verra’ 3) veniva 4) sarebbe venuto
Spegno la luce perche’ la bimba ---------- riposare.

1) puo 2) possa 3) potrebbe 4) poteva
Non sapevamo che la tua sorella -----——--- sposata.

1)e 2) fosse 3) sia 4) si fosse
Ci hanno detto che il mio professore --——--—---- venire.

1) potra’ 2) puo’

3) sarebbe potuto 4) avrebbe potuto

Nicolo vive in Francia --------- quattro anni.

1)a 2) fra 3) di 4) da
Quello che Giuseppe dice ----—------ senso, perche’ lui ¢’ un giovane colto.

1)e 2) fa 3) ha 4) appare
Roberto e’ ----------- studente.

1) un buono 2) un buon 3) uno buono 4) uno bene
Dobbiamo chiedere permesso ---------- nostri genitori.

1) ai 2) dai 3)coni 4) dei
L’amico di Dario gli ha ---------- a guidare.

1) visto 2) imparato 3) indicato 4) insegnato
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Capitolo B: Completate il testo seguente con le parole proposte

Paul viene dall'Australia. Lui studia l'italiano dall'anno (91) ---------- . Ha comprato una
macchina. La sua macchina ¢ blu. Paul ha preso (92) ---------- affitto un appartmanto
piccolo ma comodo. Nel suo appartamneto ci sono due camere da letto, un bagno, ecc.
Davanti (93) ---------- porta di ingresso c'e’ uno specchio abbastanza grande. Paul ¢’
fortunato perche’ I'universita” e vicina e lui non ha (94) --------- prendere I'autubus per
andarci. leri sera ha invitato i suoi amici. Tra gli invitati c'era anche uno svedese. Paul
ha gia' deciso di visitare Roma per la fine della settimana percio’ non ha accettato

I'invito dei suoi amici (95) -==------- andare al mare.
91- 1) futuro 2) presente 3) scorso 4) antico
92- 1)in 2) per 3) con 4) di
93- 1) della 2) alla 3) per 4)la
94- 1) per 2) lavoro 3) bisogno 4) bisogno di
95- 1) ad 2) di 3) per 4) con

96-

97-

98-

99-

100-

Capitolo C: Leggete il testo e rispondete alle domande seguenti

L'Italia e il paese delle vacanze per molti cittadini europei e del mondo. Questo paese
offre tantissime possibilita’ di vacanza.con le sue citta’ d'arte, le tante localita® di
montagna, di collina e con i suoi laghi I'ltalia ' in grado di soddisfare ogni tipo di
richiesta turistica. I mesi di luglio e agosto rappresentano ancora il periodo preferito per
le vacanze lunghe anche se in questi ultimi anni si nota un certo aumento del numero
degli italiani che preferiscono settembre. Dall'altra parte, stanno aumentando le vacanze
brevi distribuite durante tutto I'anno. La maggior parte degli italiani rimane nel proprio
paese durante le vacanze, mentre il restante sceglie destinazioni all'estero. Molti italiani
scegliono affittare una casa o un appartamento in una localita® turistica, tuttavia la
maggioranza preferisce ancora una comoda vacanza in un albergo.

Di che cosa parla il testo?

1) degli studi 2) dei mesi

3) del viaggio e del tempo libero 4) del lavoro

Italia ---------- soddisfare ogni tipo di richiesta turistica.

1) puo’ 2) non puo’ 3) vuole 4) non vuole
La stagione preferita per andare alle vacanze e’ ----------,

1) autunno 2) l'estate 3) l'inverno 4) la primavera
Per andare alle vacanze, la maggior parte degli italiani preferisce ----------,

1) la Spagna 2) la Germania 3) la Francia 4) I'ltalia

Per avere una vacanza comoda gli italiani preferiscono ----—---—- .

1) la casa 2) l'albergo 3) un luogo verde  4) il mare
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